PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
4th August 2016, 03:00 PM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

How many mm is equal to one inch? / ﬁﬁlﬁﬁﬂﬁ@ﬁ%wa’
e 25 mm / fosit
® 254 mm /'&I'Fﬁ
e 2.45mm /ot
® None of these / $TH | I3 gl
Correct Answer :-25.4 mm / ot
2)

Question Stimulus :-

Which of the following rivers do not flow through Himachal Pradesh? / fafafga afeai & 3
Pa®T vare Rura wer & A | T8 32

Chenab / fFTE
Narmada / qﬂ’q‘T

Beas / U

Sutlej / TGS
Correct Answer :-Narmada / THal
3)

Question Stimulus :-

Akhil Bharatiya Kalidas Samaroh is held in___. / 3R9@ YRdg HIfeery T9RIs A maifea fean
ST 1

e Gwalior / aTferaR
* Ujjain / S

()



® Bhopal / yiare
® Pachmarhi / tﬁlﬂ?ﬁ
Correct Answer :-Ujjain / 3=
a)
Question Stimulus :-
Rock inscriptions of Ashoka are found in___ ./ 3=MP & FRrarerE _ﬁ UTe STd %:l
® Gujjara / [SIRT
° Terahi/a?_eﬁ
e Karian / SRISH
e Amrol / 3R
Correct Answer :-Gujjara / JSIIRT
5)

Question Stimulus :-

What is the day on 29th Feb 199672 / 29 BRa3! 1996 &I B9 AT fa7 82
e Monday / THAR
* Tuesday / HIAAR
* Wednesday / gHdIR

®* Thursday / 2dIR

Correct Answer :-Thursday / T¥dRR
6)

Question Stimulus :-

Which of the following is India’s National Academy of Music, Dance and Drama? / UK DI AT HRd Bt

wifta, T ol ATe® WP rpreH! 772
® TIndira Gandhi National Centre for Arts / m i Tl'gh:l' bl W
® Sahitya Akademi / TTTecd S[BTGH

* Lalit Kala Akademi / @ifeTd Pl PIGHT
(3)



® Sangeet Natak Akademi / I AATeH SHIGHT
Correct Answer :-Sangeet Natak Akademi / §Id ATC® ABIGHT
7)

Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose
the fourth term from the following options which has a similar kind of relation with the

third term. / 79 74 &, 1gd 3 u6l & o <l voR 4 F1E day 2] Ao e d 9 = ue g
e TR ue & Iy I THR o1 I9Y g

QYGO : SAIQ :: VCKS : ?
* WDMV
® VFNU
* WDLU
® XEMU
Correct Answer :-XEMU
8)

Question Stimulus :-

India’s tallest stone statue of the Jain sage Gomateswara is at / YRT &I T St IR Bt {ﬁﬁ?mgﬁnﬁw
TBI W31

L Mysore/'ﬁ'ﬁ?

® New Delhi /T'I'&;%ﬁ‘ﬁ

® Shravan Belagola / YIUT AT

® Mandya / HTSdT
Correct Answer :-shravan Belagola / G0 @l
9)
Question Stimulus :-

Who wrote Baburnama / STaRATHT fou forar ur?
® Alberuni/ & EEan]|

® Megasthenes / TR
(4)



® Qutub Khan / Pdd Wl

® Babur /dTdY

Correct Answer :-Babur / dTdR

10)
Question Stimulus :-

The Greeks called this king ‘AmitroChates’ meaning slayer of kings. /TI'F'P[ S XTSI G| ‘\ﬂﬁ?ﬁﬂﬁ'\q’, 3ryfa
RTSAT3HT BT [ArH Fgd U

® Bindusara / ﬁg'\‘:ﬂ?
® Chandragupta Maurya / ilﬁ'{[ﬁ wrd

¢ Samudragupta / FH&IW
® Ashoka / 3P

Correct Answer :-Bindusara / fdgarR

11)
Question Stimulus :-
A and B are planning to meet each other after office. A can leave office between 5:30 to

6:00 while B can leave office only after 6:00. A takes 1 hour by bus or 30 mins by cab to
reach the meeting point whereas B takes 30 min by bus and 15 min by cab to reach the

same. / A 3R B $RIAT & JI¢ TP gax A (A< @1 do-T1 ST &1 A 6:00 3R 5:30 59 & &
PETY BIS THd &, P B $ad 6:00 I9 & 9l PHATGY BIS P &1 A P Taey WM 9% 99 § Uga
# 1 g1 TaT € U1 9 e SRl & aan @ Si9fe B B 30 e 99 9§ ofR 15 e dRlit @ T g1

If A leaves at 5:30 and takes a cab, when should B leave and what conveyance should he

take such that he is not late? / A 5:30 WR fA®d SIdT 8 3R ¢RI dT1 8, B &1 &d Apa-r Aiige 3R
S T 918 A1 AT Al 3 & 7 812

® 6:00,Bus/ 9
6:00, Cab / SRl
6:15, Cab / ¢RIl

® B cannot be on-time / B WWH’@U@?W

Correct Answer :-B cannot be on-time / B T9d WR 81 Ugd IHdl

12)

Question Stimulus :-
®)



line is the boundary demarcation line between India and Pakistan. / I@T YR 3R ey & €9
HHHiH Y@ 7

e Radcliffe / ¥SfaA®

* Durand / §¥8

e McMahon / AGHIEH

® Red /XS
Correct Answer :-Radcliffe / YSfHIE
13)

Question Stimulus :-

In the following question, some group of letters is given, all of which, except one, shgre a
common similarity while one is different. Choose the odd one out. / IGERE fr, [i3) gl P
g 33 M €, S 9fl, Pad TP B BieHT, UM € waih TP 3 g| A 9 &) g

* GE

e MK

* WU

* QN
Correct Answer :-QN
14)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawea T;{ﬁ'l'{

<t faT T HoT T frspul & 9 & TE R
Statements: / PY:

All fruits are vegetables / I wa dfrai &
All vegetables are fresh / T Ifri amei &
Conclusions: / frep:

I.All fruits are fresh / I vd I %

II.Some fruits are fresh / $© Bd ol &

® Only conclusion I follows / de f~rwY I fFrerdr g

(6)



® Only conclusion Il follows / pad freey 11 fFrepear g
® Both conclusion land Il follows/ﬁwcf I 3% 11 Eﬁ:ﬁ' IBEZSG %

« None of the conclusion I or II follows / spY I 41 II # A SIS 81
readar 2

Correct Answer :-Only conclusion I follows / Fad e I Headr @

15)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 38 fawey gt
St T T By wd sl & i & 9 R

Statements: / ©YH:

All grapes are bananas / I GﬂRﬁ %

Some guavas are grapes / $S 3ATG 3R &
Conclusions: / faead:

I.Some bananas are guavas / 99 o HTG %
II.Some guavas are bananas / $& 3H¥q Gy %

® Only conclusion | follows / aﬁﬁﬁﬂﬁﬂf I fFrpadar %

® Only conclusion Il follows /aﬁ'ﬂﬁlﬁb‘ﬁf B EASGI '%

® Both conclusion | and Il follows /ﬁl’ﬁﬂf I 3R II ?ﬂtﬁ IGEZNG %

® None of the conclusion | or Il follows / frepd 1 a7 11 ® '\a aﬁ's‘ qﬁ' IBCSGI %
Correct Answer :-Both conclusion | and Il follows/ﬁ'mﬂf I 3R II E‘Fﬁ IGEENG %’

16)
Question Stimulus :-

Following are the three positions of a cube. / 99 P a4 fRufaa 79 TR 3 %

(7)



TO™ RO

M iy
TACK TOM
15t view 20d view
RON
\EAL MEL
Idyiew

What is the name on the bottom face of 15t view? / tl%ﬁ T & dd & BAP U T T %?
® MEL
®* TOM
® RON
® NEAL

Correct Answer :-NEAL

17)

Question Stimulus :-

Branches of five banks A,B,C,D and E are as follows: / A,B,C,D 3R E Ufg 9] ®! I A9 & -
1. A, B and C are in Indore and Bhopal. / A, B 3iR C IR Td Hurd # &l

2. A, B and E are in Indore and Gwalior / A, B 3R E 3R U4 WIfersk # g1

3. B, C and D are in Raipur and Bhopal. / B, C 3R D I¥YR T4 Wura & gl

4. A, E and D are in Gwalior and Jabalpur / A, E 3R D W1feaR T4 SleaR® A 2|

5. C,E and D are in Raipur and Jabalpur / C,E 3R D W@Wﬁ%l

Branch of which bank is in Indore but not in Raipur? / foa o aﬁms‘cﬁ?ﬁ% Wwﬁ?&ﬁ'

82

(8)



° A

D
Correct Answer :-A
18)

Question Stimulus :-

The Standard time meridian of India longitude passes through this state / HIRd MR BT A9 g9

TR 39 59 A B TorRdl &
® Allahabad / Sdleldlg

® Ahmedabad / 3@HqIdIq

® Mumbai / 'ﬂil’s‘
® Nagpur / ARTYR

Correct Answer :-Allahabad / Scleldlqg

19)
Question Stimulus :-

Deepika Kumari was conferred with the Arjuna Award in 2012 for her achievements in__ ./ 2012 " T:ﬂﬁwr

FAN B & Suaisy ¥ R arc Ry fam Al
* Basketball / S edTd
® Tennis / ¢f
e Badminton / SSfiicA
® Archery/ ?ﬁ?ﬂ'ﬁﬂ
Correct Answer :-Archery / dIRGIol
20)

Question Stimulus :-

The jumbled letters of words are given below. Each letter has been numbered. Choose the
option which gives the correct order of the letters as indicated by the numbers to form
meaningful word. / X<l & ARG 3R I A T &1 ud® 3eR o Fwrifed forar war g1 Jwmai
o1 0T fase g forad 9 gRT o=1A a1d S1gRT | arde reg 3t 9= 811

HNRCAB

©)



123456

e 2,534,1,6

e 3,5641,2

* 4,1,5,6,2,3

* 6,3,5,2,4,1
Correct Answer :-6,3,5,2,4,1
21)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fageu
g, ab @l e ¥ TR R w sy & 9w 2 -

If Sita goes to college, then she will not go to school. / af¢ War Hiaw Wt 8, @ 9O o Tl
SR

e If Sita goes to school, then she will not go to college. / afe et qod EIGi %, aar
Pierel T8l S|

e If Sita doesn’t go to school, then she will go to college. / afe It qpd EHEEIGI] %, Gl
al picel S |

e If Sita doesn’t go to college, then she will not go to school. / afe a1 Hias T8 STl
2, A 9t goa e WA

e If Sita doesn’t go to college, then she doesn’t go to school. / gfe Har St 81 Sre
g, f 9 qpa e ol Bl

Correct Answer :-If Sita goes to school, then she will not go to college. / afe Hiar qed
STt €, °t al i Agl S|

22)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg faTeg
g, ar sl I TR Re e sy F 7w 2 -

If there is a strike, then all the shops will be closed. / af¢ gsaia g, df @ft gp™ g gl

e If there is not strike, then all the shops will not be closed. /mmqﬁ%, a1 gt

P §¢ 5! Bl
e If all the shops are closed, then there is a strike. /‘Jﬁ{'ﬂ*ﬁ@ﬁﬁi ?ﬁ?ﬁTES_d'IFT%I

(10)



e If all the shops are not closed, then there is no strike. / af¢ Tt g dg & & @
ELISEN K]

e If all the shops are closed, then there is not strike. / afg |t W'ﬂﬁgﬁﬁﬁ?{ﬁ G|
TS T8l &

Correct Answer :-If all the shops are not closed, then there is no strike. / af¢ i go=
§5 T8I §, df goaTd -Tel g

23)

Question Stimulus :-

Who established the Mughal empire in India? / YR H IS ATHTST B RITYHT fova &1 ot

* Timur /faqR
® Changez Khan / TS @1

® Babur / dTdX

® Humayun/ §HH

Correct Answer :-Babur / d9Td%

24)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / a3 fa®we gHT
W faT T $y=Y vd el & o & 9 21

Statements: / ®Y-:

All bulls are cows. / I 3@ T 21

Some bulls are not tailors. / Waﬁ &l 81 g
Conclusions: / fssd:

I. All tailors are cows / 9t gsif 19 &

II. All cows are tailors / I 7T it &
® Only conclusion | follows / Wﬁwm\‘ I frpadar %
® Only conclusion Il follows /Wﬁf@ﬁf i fFreear %
® Both conclusion | and Il follows / fTpt I 3fR 1T S fFied &

® None of the conclusion | or Il follows / forepd 1 a7 11 ® '\a aﬁ's‘ T'Iﬁ IECSGI %
(11)



Correct Answer :-None of the conclusion | or Il follows / ffpdrarIasa ?ﬁé T8I Freadr %’

25)

Question Stimulus :-

LIC of India was establishedin ./ HRd@ SilgAa|r o o wurfua fosar mar ani

* 1897
® 1950
* 1956
® 1965

Correct Answer :-1956

26)
Question Stimulus :-

In the following figure, rectangle, square, circle, and triangle represent the regions of
wheat, gram, maize and rice cultivation respectively. / 5L Gﬂ?ﬁf f{, 31, EITf, qdq 3R i
U AF, I1,9FPT 3R Iad BI Wl & T B g2Md &

/!

//’?X
1
5 y / 2

2T~

et
Ai&)\ 3
B 7 .,
11
/ 10

8

-:ﬁv—:ﬁic%h area is cultivated by wheat and maize only? / f&d & ° wad ﬁﬁvéﬁ? s oI Gt
?

(12)



Correct Answer :-4

27)
Question Stimulus :-

The Chief Election Commissioner is appointed by the / ___ T8T g-ITd T gRT f=gad fowar sirar gl
® Prime Minister / T A
® Governor / TsUTed
® President of India / YR & ?quﬁf
® (Cabinet Appointments Committee / Hea &t ﬁg%r aftrfa
Correct Answer :-President of India / HIRd a‘T?TngFVT
28)

Question Stimulus :-

A woman introduces a man as the son of the brother of her mother. How is the man related to the woman? / s Gﬁ?ﬁ@

3MeH! BT URTY 5 YR BRI ¢ P 98 STST AT P HIE BT 921 81 SMMSH! 3R A H4 Jafd 82
® Cousin / HHRT HTS
® Nephew / HiGIT
e Son/qcl
* Uncle / ATHT

Correct Answer :-Cousin / HHRT HTS

29)
Question Stimulus :-

Find the word that represents the category of the following three words. / dg R 3Td Piford
it A i real ot Joit 3 g=ifaT @

Wolf, Leopard, Deer / %fsar, i, 3
® Meat eater / HINT H&D
L Jungles/\_riTlFl'

® Mammals / TAAURT

(13)



® Cruel /PR

Correct Answer :-Mammals / SAYRT

30)
Question Stimulus :-

If the bread is toasted and mayonnaise is spread on it then either I will go hungry or I will
have acidity. I have acidity so mayonnaise was spread on the bread. / 9f¢ 38 &I cie f&ar
STaT 8 SR 39 WX NG 9T Srar g A | # Y@ I8 S ar g eRifed gt wmeft g9 uiifed @
ST AT S TR ST 14T AT

e True / gl

* False / Tdd

e Maybe / 8 J&dl &

e Irrelevant / 3MRIfI®
Correct Answer :-Maybe / 8 J&dT §
31)

Question Stimulus :-

All states of India necessarily have / HIRd & gl Isal & ﬁrq SR %
® A Legislative Assembly / fI8T= THT
® A Legislative Council / ﬁ%ﬂ:f'qﬁ'q'c{
® Both (a) and (b) / ST (a) AT (b)
® Either (a) or (b) / IS TP (a) TT (b)
Correct Answer :-A Legislative Assembly / Ta8T THT

32)
Question Stimulus :-

1. A,B,C,D,E,F and G are sitting around a circle and are facing the center. / A,B,C,D,E,F IR G
W P IRI 3R I T 3R #ex F1 iR g@ o B

2. G is second to the left of C, who is to the immediate left of F. / C & 9Tl 3R A G g1 §, F
¥ faagpa arft 3R &1 8

3. A is third to the left of E / E S it IR A A dR1 &

(14)



4. B is between D&E / D&ﬁTEa'??sﬁT:lB%

Which of the following is false? / g o 9 F191 Tad €2

e A is fourth to the right of E. / E a;ai%ﬁ’ran-m iﬁ‘?—IT%I

® Gis to the immediate right of D. / D %ﬁﬁﬁ'@l‘l‘c{?{%?ﬁ 3R G Bl

e Fis third to the right of D. / D & &fg-l 3R F dR1 21

e B is to the immediate left of D. / D & fya@%d a1¢ 9t 3R B 1
Correct Answer :-F is third to the right of D. / D & gfg-t 3R F @1 &1
33)

Question Stimulus :-

Which of the following States of India have a common border with Bhutan? / HIRd ¥ frafafag Tsaf A § o
T Y™ $ TP 3 FT 82

® Assam, Arunachal Pradesh, West Bengal and Sikkim / 3{¥TH, 35Ul m, ufyw §a SR fafeew
® Sikkim, Tripura, Mizoram, and Manipur / W, ﬁ'ﬂ?T, fireiRE i 'FIﬁTQT
® Assam, Meghalaya, West Bengal and Mizoram / 3[dH, ﬁ'ﬂ'l?l'q, iy dre ofk fireRe

® Arunachal Pradesh, Nagaland, Sikkim and Manipur / 3[5UITd¢l H%EZT, q‘ﬂa?, IGIEST] Gﬁ? 'FIﬁTg?

Correct Answer :-Assam, Arunachal Pradesh, West Bengal and Sikkim / 3[H, GW'FI%QT, uf3m

T ofiR fafaeH
34)

Question Stimulus :-

Nitin ranks eighteen in a class of 49 students. What is his rank from the last? / fAfeT 49 o
P! BT H ERE WM R 21 F&T H 3BT R § F9T T 82

°* 18
e 19
* 31
° 32
Correct Answer :-32

(15)



35)
Question Stimulus :-

Alirajpur district was created with 3 tehsils from which of the following districts?/ Gl?ﬂw ﬁlﬂT, fada
fepr forel &t 3 agediedl & &1 Ur?

® Jhabua/ YTJ3T
® Barwani/ SYATT
® Ratlam/ IddH

® Dhar/ TR

Correct Answer :-Jhabua/ FTg3T

36)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg faTea

giHe, st 9 @1 =8 F T R 1w Y= & w7
If it is morning, then we can hear the sounds of birds. / ?Tl% gde %, a °H ﬁl‘%‘cﬁ B Gﬂﬁlﬁﬁ?
THd ¢l
e If it is not morning, then we cannot hear the sounds of birds./ q‘%iﬂﬂ%’?&ﬁ?z, ?ﬁ'&ﬂ?
ffsat @ smare =8 7 wHa &

e If we are hearing the sounds of birds, then it is morning. / af¢ gd fRIfsal & smars
TS ¢ W6 3, df gaIg o

¢ If we are not hearing the sounds of birds, then it is not morning. /ﬂﬁ’s’ﬁﬁlﬁs’ﬁﬂ%

3TaTS Tt TS & 8T §, &) Yo Te g8 8

e If it is morning, then we cannot hear the sounds of birds. /‘qﬁﬁ'cr&’%, ?ﬁiﬂ?ﬁl@f“ﬂ?ﬁ
TS 8l G TP gl
Correct Answer :-If we are not hearing the sounds of birds, then it is not morning. /
afe g fufeal 1 smarsd 781 G1$ 3 61 €, A gae T g &
37)
Question Stimulus :-

Who was the first Governor to impose President’s Rule in Madhya Pradesh? / Ugdl TR foraq aer ueRI o
HELICRUIREISIDAER K b

(16)



e S.N. Sinha / TF T =51
® RP Gupta/ 3R W Twr

* K C Reddy/ & I 35}

® N N Wanchoo / TH T 4@
Correct Answer :-S. N. Sinha / @9 @1 =81
38)
Question Stimulus :-

Tarun’s position in a row is 2" from the left and 3" from the right side. How many

persons are there in the row? / T® Ul & T%01 &1 I TRIT SR | goRT1 § 3R gIfe | dRmwl
iRt § por fobam aafd €2

Correct Answer :-4

39)
Question Stimulus :-

Which national park was the royal hunting reserve of the Maharaja of Gwalior? / P 9T ?T@'q I TaTferaR

& WERTSI T W6l ARG RBR & ur?
® Van Vihar National Park / 99 ﬁgﬂ' ?Tgh G
® Satpura National Park / HdqRT ?T@'q CELE]
® Madhav National Park / HIYd ?T@'q [ROIG
® Panna National Park / UAT ?T@'q ROIGE

Correct Answer :-Madhav National Park / HTHd 819 A

40)
Question Stimulus :-
Engineer’s Day is celebrated on the birthday of . 1 St feaw & TGaT R AT ST gl

(17)



* APJ Abdul Kalam / TSI 3fegd HaTd
e CV Raman /¥4t IHT

® M Visvesvaraya / TH ﬁl’%m

® Homi Baba / BIHI HTHT

Correct Answer :-M Visvesvaraya / TH faama

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

((630/210)x6)/18+(540/6)x4-(815/5)x2=?
°* 42
® 40
® 35
* 38
Correct Answer :-35
2)

Question Stimulus :-

Complete the following sequence of figures. / Wﬁﬁff * 9 wH &t PRI B

(18)



Correct Answer :-

3)
Question Stimulus :-

In a code, VELOCITY is written as YTICOLEV. How is MINORITY written in that code? / T® Hapd H, VELOCITY Tl

vTicoLev for@d &1 It Hohd & MINORITY BT S feraa?

® TYIROMIN

® TYROINIM

® YTIRONIM

® TYROIMIN
Correct Answer :-YTIRONIM
4)

Question Stimulus :-

Due to an increase of 25% in the price of eggs, 4 eggs less are available for Rs 20.00. The present rate of eggs per dozen
is/ 3Sl B PIHT & 25% TEIa3! & BRI, 20.00 TUT H 4 33 FH U 3| Ul goi 3SI BT Hiegar
PIa @

® Rs15/ 15 %UQ
e Rs18/ 18 ¥U¥
® Rs10/ 10%UY
® Rs20/ 20 ¥UT
Correct Answer :-Rs 15/ 15 34T

5)
Question Stimulus :-

A can do a job in 16 hrs and B takes 20 hrs to do the same. How long will it take to complete the work, if both of

them working together? / A U BTH B 16 Ul H B HHdT § 3R B Pl A BTH $I B H 20 °e qdm

(19)



21 afe Q= 1Y B0 HA &, 9 T BT D W B4 | fha-r I0d Tm?

8
days/ 8 ° &=

o | oo

e 8

| L
O L

e 8 Ydays/ 8 ? faa

o | s
| e

days / 8 9 Ikl

—

1
9
e 8 days / 8 faq

8 8
Correct Answer :-8 days / 8 ° f&a

6)
Question Stimulus :-

1 1 1 1
;

Simplify: 10 = -[8 = + {6-7-6-4}] / TXd BT 10 © -[8 = + {6-7-6-4}]

Correct Answer :-1

7)
Question Stimulus :-

Which one of thg following four addresses is NOT EXACTLY the same as the one given
below? / ¥ f3¥ T4 AR udi & & i 3 T ud & e 9= &1 A1 TP T8l 82

Ottawa Whitewater Rafting, Ltd.
P.O. Box 179

Beachburg, Ontario KOJ 1CO
(800) 267-8505

(613) 582-3351

(i) Ottawa Whitewater Rafting, Ltd.

(20)



P.O. Box 179
Beachburg, Ontario KOJ 1CO
(800) 267-8505

(613) 582-3351

(ii) Ottawa Whitewater Rafting, Ltd.
P.O. Box 179

Beanchburg, Ontario KOJ 1CO
(800) 267-8505

(613) 582-3351

(iii) Ottawa Whitewater Rafting, Ltd.
P.O. Box 179

Beachburg, Ontario KOJ 1CO

(800) 267-8505

(613) 582-3351

(iv) Oottawa Whitewater Rafting, Ltd.
P.O. Box 179

Beachburg, Ontario KOJ 1CO

(800) 267-8505

(613) 582-3351

® ii
® jy
Correct Answer :-ii

8)

(21)



Question Stimulus :-

Find the value of "C; / "¢, ®T A oo

¢ (n-1)
Correct Answer :-n
9)
Question Stimulus :-

If ACTED is coded as STUAH then how will ACE be coded as? / Tf& ACTED T STUAH T DIfSd T STar & al
ACE P & wifed fpar smam?

® SUA
® HAT
® ATE
® STA

Correct Answer :-STA

10)
Question Stimulus :-

If DREAM is coded as FTGCO then EFFORTS is coded as / df¢ DREAM &1 FTGCO ¥ &If3d
forar SiTar @ 9 EFFORTS &1 ¥ sifed foar s

® GHHQTVU
® GHHQTUV
* FGGQTVU
® GHHQSVU
Correct Answer :-GHHQTVU
11)

(22)



Question Stimulus :-

The ratio of the price of a camera to that of a Tape-recorder is 5:4. If the camera is
Rs.300 more expensive than the Tape-recorder, what is the price of tape recorder? /

ST 3R TU-NBEY & AT BT U 5:4 Tl HHIT 3R 2U-NpreX I & 300 TG WEM ¢ ol eu-
1SR @1 g w1 82

® 1600

® 1800

® 1200

® 1450
Correct Answer :-1200
12)

Question Stimulus :-

The printed sale price of book is Rs. 60 but the seller allows successive discount of 20% & 30%. The net
sale price is subject to sale tax of 5%. What does the buyer pay? / frarg =1 'ﬂﬁ_d fant HeU 60 ST %,
AfrT faehaT 20% 3R 30% & TR Fe gl a1 g1 Fo fawt Tea § 5% 9 w & i 31 TeR
T YT BT 82

* Rs.35.28 / 7UU 35.28
e Rs.31.50 / =T 31.50
e Rs.36/3UU 36

® Rs.32.48 /3UY 32.48

Correct Answer :-Rs.35.28 / ¥UU 35.28

13)
Question Stimulus :-

The series given below contains a sequence of alphabets and numbers. Identify the

incorrect combination: / I & TS e &Rl Td WwTSH HT IHH WART Hat o] ITad FaoTT
UgaI=d|

(i) d63bd4ss93fs6r
(ii) d63bd4ss93gs6r
(iii) d63bd4ss93gs6r

(iv) d63bd4ss93gs6r

(23)



® jv
Correct Answer :-i
14)
Question Stimulus :-

Complete the series choosing the missing number: / AW TBAT TAH FGaT HI T BIOT :

41,37,46,30,55,19,
* 60
® 45
®* 15
* 68
Correct Answer :-68
15)

Question Stimulus :-

In a code, TRAVEL is written as ARTLEV. How is PARCEL written in that code? / ¥® Hdbd H, TRAVEL &I ARTLEV
forma g S Jdd # PARCEL & & for@a?

® RAPLEC
® CARPEL
® PELCAR
® RELPAC
Correct Answer :-RAPLEC
16)

Question Stimulus :-

The average age of a class was 12. It rose to 13 when the age of the class teacher who is 37 years old is also included.

(24)



How many students are there in the class? / waﬁ'aﬁ 3T 39 12 ﬁ| g 13 EI?,TTI'Cﬂ, a‘q's'm?raﬁﬁmﬁ
P 39 St 7€ W1 fop 37 o g o A fopa faendf €2

* 23

® 25

* 24

° 22
Correct Answer :-24
17)

Question Stimulus :-

1/2 is what percent of 1/3?/ 1/2,1/3 b1 fora=m ufa=mE %?
® 125%
® 130%
® 150%
® 140%
Correct Answer :-150%
18)

Question Stimulus :-

What is the average of natural numbers between 50 and 75, which are multiples of 4? /

50 3R 75 & fHT Wt 4 & T T, 39 WHfad =il &1 haa 1 82
° 60
° 64
° 62
° 66
Correct Answer :-62

19)

Question Stimulus :-

(25)



A train 120 m long is running with a speed of 65 km/hr. In what time will it pass it pass a man who is running at 5km/hr

in the same direction in which the train is running?/ 120 H} T T 2 65 fpefit/der o1 nifa & war 36 81 ™o
%ﬁ;ﬂnfa?wvﬁ%wﬁﬁmﬁsﬁ?ﬂmﬁwﬁﬁ%?ﬁwmﬁwwﬁﬁ%ﬁmm
* 7.2sec/7.2UPS
* 8.4sec/ 8.4 DS
* 6.6sec/ 6.6 ADS
* 5.8sec/5.8UPS

Correct Answer :-7.2 sec/ 7.2 958

20)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬁlﬁ 3I&R AP @l B T PIFT :

a_c_baab_c_a_bc

® bcbca

® bccba

® abccb

® achcb
Correct Answer :-bccba
21)

Question Stimulus :-

In the following question, one term in the number series is wrong. Find out the wrong
term. / N9 Uy ¥, S©I 491 § TP US TAd & TAd U JE BIOA|

1,2,3,5,8,14

(26)



Correct Answer :-14

22)
Question Stimulus :-

How many triangles are there in this figure? / % mepfa & fFaq Bl g2

7\

® 8

Correct Answer :-7

23)
Question Stimulus :-

Find A and B, if 2A + 3B = 21, A-B=3 / A 3X B JTd $ISE, afe 2A + 3B = 21, A-B=3
* 6,3
e 3,6
°* 9,6
e 12,9
Correct Answer :-6,3

24)
Question Stimulus :-

Complete the series choosing the missing number: / AW JWT TAHR HGAT BT [T PIOT :

(27)



121,143,165, ;209
* 188
® 186
® 187
® 190
Correct Answer :-187
25)

Question Stimulus :-

If 812A8 + 2A53A = 10881B, then A=? / "‘T% 812A8 + 2A53A = 10881B, dd A=?

Correct Answer :-7

26)
Question Stimulus :-

There are four alternatives for the following question. Find out the correct one. / Fauy &

forg IR fawed §] @t arem giT)

i. 'Quo Cui Heer’ means ‘Boy is Good’ / 'Quo Cui Heer’ W'ﬂ?ﬁl‘q'% ‘Boy is Good’
il. ‘Lai Quo Mea’ means ‘Meena is fair’ / ‘Lai Quo Mea’ mw% Meena is fair’
iii. '‘Ruo Lev Mea’ means’ ‘All are Fair’ / ‘Ruo Lev Mea’ W'ﬂ?ﬁi‘q’% *All are Fair’

iv. 'Si Hai Cui’ means ‘Dog was good’ / 'Si Hai Cui’ PT AIAd & ‘Dog was good’

Which of the following encryptions stands for Heer? / ﬁ'er Q‘W H d Heer & ﬁ‘l‘E Cack:|| %?

e Boy

(28)



* Meena

* Fair

* Good
Correct Answer :-Boy
27)

Question Stimulus :-
Mukund brought 25kg of sugar for Rs.400. If he sells them at Rs.17 per kg. What is his percentage
profit? If he sells at Rs.15 per kg, what is his loss profit percent? / ¢ 400 TUA B 25 fopar A=t arar
9% 3% 17 T Uid el W S=aT g1 SHBT a1 Ui & g2 afe 98 D=t 15 ¥ Ui [l W Swan g, al
ST gT A1 yfer=rd a1 82

® 6.25%, 6.25

® 7.25%,7.25

® 4.25%, 4.25

® 3.25%, 3.25
Correct Answer :-6.25%, 6.25
28)
Question Stimulus :-

The probability of winning a game is 1/4. What is the probability of losing a game? /@'c"fﬁﬂ_vlﬁa% IHTAT 1/4 %I

W §RA PV AU FT 82
* 12
* 1/3
° 3/a
° 2/3
Correct Answer :-3/4
29)

Question Stimulus :-

The distance between A and B is 40 km. A person starts from A at 10 am and walks towards B at 4km/hr. Another
person starts from B at 11 am and walks towards A at 5 km/hr. What time do they meet?/ A Gﬁ? B & §9 &t gﬂ' %

(29)



40 freiY | T fea Gag 10 991 A I 7= o B Ft SR 4fmft/der ot wfa 9 Taar 31 ve goxT aafed gag
11 991 B ¥ Y& IR A Dt 3N 5 fpHl/eer &t wfa & gaar 81 3 fva awa w= e 82

° me/'éﬁ'qé'?ZET?f
° 3pm/7:ﬁ'q3?3a@r
® 4pm/CIUER 4 99
® 3.30 pm/ UG 3.30 TS

Correct Answer :-3 pm/ IUgR 3 §o

30)
Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁﬂ"ﬁ BER gAY el I LRyl ﬁﬁrq i

abb _ba_bb_aa_bbaaa_b
® babba
® baaab
® babaa
® bbaab

Correct Answer :-babaa

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

Some people complain of a sharp pain in the ear when a flight takes off. This is due to / Sid Tdh faum=

IS HIAT & °f T AT HF | aol & o1 Rrp1ad F3d 81 TTPT PRUTT ¢
® increase in the atmospheric pressure /aTgﬁ:%ﬂtr cld o Q'@

® Air becomes denser / AT dd g SITaT 8
® Decrease in the atmospheric pressure /aTﬂT-i?:ﬁTq aE o w4t
® Sudden change in air pressure / dTY & qld A e yRad+

Correct Answer :-Sudden change in air pressure / dIg & qld A e yRadd

2)
(30)



Question Stimulus :-

& +5° Jla® +ab+5°]
l&” -5 Ja"-ab+5"] =

|:a + E;l_TIJ

la—bf

(a—b)
(a+ EJ:)

(a—5)
{a+d)

[:c;r-!-EJ?J
(a—5)

[:a+ E))

(a—5)
Correct Answer :-" ’

3)
Question Stimulus :-

Following table shows the Advertising Cost per square cm (in Rupees) and Readership per day for five local
newspapers of Budhunagar. Answer the following questions using the information provided. / forg arferesT gd& TR

F Ui"T WY FHER 9F, Ufd ot 9 &R o (3w ) @R ufd o uree! &f foard! g1 Suasy
RS T SATPR] BT STIRT B g Fare & Sarg S|

(31)



Advertising

Cost (per 5q

cm) / Taama=
Newspaper/ e (@ EE] Readership/
HHEN T BT BIGE
Runiva ki
Khabar / Zf
EORCEES 110 1500
Wake Up / &
T 85 1250
Evening News f
TIECERS 105 1800
The Gossip/ g
M 130 1650
Paparazzi /
RINE] 125 1250

Which newspaper is the most economical for advertising in terms of advertising cost per reader? / DI AT GAR

fasToe @mTa wia uro® & A | fSRTT ¢ & fow 9aw fewradt 52
® Duniya ki Khabar / gf-/dT &1 W&
® Evening News / Saf=IT1 <g&
® The Gossip /G TITRIY
* Paparazzi / GUIRTSI!
Correct Answer :-Evening News / I~ <ol
4)
Question Stimulus :-

The desert plants have scale- or spine like leaves. Give reason / XA & e o
XTe T Y[ STt Uil gt &1 $ROT Eiore

e To protect them from animals /3% STH&RI ¥ F91 & fag

 To reduce loss of water by transpiration / aTII<TSIH §RT STd 1 8T~ B $H H & forg
(32)



e To prick you when you try to pluck it / 9 3TU I dIe+ &1 T B df gUH & fe
¢ None of the above / SWRIad & A HIs T8l

Correct Answer :-To reduce loss of water by transpiration / aTS_TS §RT SId 31 g1+ &I HH
P & fog

5)
Question Stimulus :-

Which of the following is not true when milk changes into curds? / S1d g 'E;"Bpf | trR'a’f%’ra BﬁTﬂ % a

o d 9 =19 91 9 g gl

. I%ts state is changed from liquid to semi- solid. / ITB! AGRIT oA T I 3 H yRafda Eﬁ SITelt

e It changes in colour. / STPT T dG SITdT %
® |t changes in taste. / dg dlq o dqd SITdT %
® The change can be reversed. / ufRad= Sepfia fear S godr %
Correct Answer :-The change can be reversed. / ulRad< Iepfia foear ST goar %

6)

Question Stimulus :-

4.3
If the length of the diagonal of a cube is K m, then its surface area is ./

oft Rt w1 & it reard e 3, 4t o g e A
o 24m?/2aeT 2

o 54m2/54HeT 2
e 96m?2/96Hex 2
e 216 m?/216 Hlex 2
Correct Answer :-96 m?/ 96 Hiex 2

7)

Question Stimulus :-

(33)



—3 x 2%

Simplify 22
olimplirty ————
P 7o e #iRT

The value of this when simplified is / 3 OI9 TRAIPpd [Bar 41, S9HT A
ITe gl
o 27
o 93
o 27
o 12

Correct Answer :-27

8)
Question Stimulus :-

Following table shows the Advertising Cost per square cm (in Rupees) and Readership per day for five local
newspapers of Budhunagar. Answer the following questions using the information provided. / g arferer gd& TR

& Ui W F9ER U3, Ui ot ST O anrd (39 9) iR ufd o ures! &) feardt 81 Suasy
PRTS TS STPR] BT STINT B 9 Jaral & siarg S|
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Advertising

Cost (per 5q

cm) / Taama=
Newspaper/ e (@ EE] Readership/
HHEN T BT BIGE
Runiva ki
Khabar / Zf
EORCEES 110 1500
Wake Up / &
T 85 1250
Evening News f
TIECERS 105 1800
The Gossip/ g
M 130 1650
Paparazzi /
RINE] 125 1250

If an advertiser books 40 sq cm space for advertising in “Paparazzi”, what would be the cost of advertising per reader?
/ afe T faguHeaT TuRTS AR U # 40 FfHieR S8 g6l @=ardr &, 9 ufd urew fagmu &t o
GINGEC él‘“?

® Rs.3.50

® Rs.3.83

® Rs.4.00

® Rs.4.33

Correct Answer :-Rs.4.00

9)

Question Stimulus :-

The perimeter of an isosceles triangle ABC, with AB =BC =30 cm, AC =40 cm is ./ €P W@a’rﬁ
Pr@tor aBc oW AB =BC =30 991, AC =40 9} B, &7 uftmmu @
* 1m/1¥HR

(35)



L 70cm/70@1ﬁ
e 100 m /100 Hex
* 70 m /70 Hiex

Correct Answer :-1m/1#HeR

10)

Question Stimulus :-

ABCD is a trapezium with AB || DC. E and F are points on the non-parallel sides AD and BC

AE 3
ED 4
respectively such that EF is parallel to AB. If and FC = 6, Find BF. / ABCD U&%
U agye 8 S8 AB || DC 9UT E 9 F 3RIHiaR Ysil AR AD 9 BC U 39 USR fRUd 8 % EF, AB
AE 3
, ED 4
& TUiaR g1 afe d FC = 6 BF Jd |
9
® 45
* 6
® 12

Correct Answer :-4.5

11)
Question Stimulus :-

The force applied by the archer to stretch the bow is an example of / 4 GIGER:D fore dRe~
gRI AN 96, TP 31670 § SHDT

® Magnetic force /ﬂ'ﬂﬁ'ﬂ qda

® Gravitational force /W’H q9d
* Frictional force / THUT T

e Muscular force / Uit §&

Correct Answer :-Muscular force /ﬁaﬁ d9d

12)
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Question Stimulus :-

Incomplete burning of glucose occurs when the supply of O2 to the muscles is not sufficient. It results in

the accumulation of WWWWWW@W%WWW
mmmélmuﬁmﬁuﬁﬁmmﬁmév

e Carbon dioxide / CarT) mgaﬁamste;
® Acetic acid / Tdife® 3

* Lacticacid / dfde® s

e Water / LI

Correct Answer :-Lactic acid / <fecs 3/

13)
Question Stimulus :-

The blank —looking structures in the cytoplasm which are common in plant cells like onion when observed

under a microscope are caued/ﬁﬁwﬁﬁaaﬁ@ﬁmﬁﬁmﬁ%awﬁrﬁﬁmﬁﬁmﬁ
AT & o9 & & dea Jfara 3 o @ Seerat 2

Nucleus / ¥5®
Vacuoles / f¥faa®mg
Tonoplast / SRS
Ribosomes / ISaIAH

Correct Answer :-Vacuoles / Rf&I®mg

14)
Question Stimulus :-

If sin(A + B) =1 and cos B = 1/2, for acute angle A and B, then A = / Tlﬁ:q\:[ I A TdB * ﬁ‘fq,
sin(A+B)=1UWdcos B=1/2,dd A =

® 60°

o (°

°* 90°

e 30°
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Correct Answer :-30°

15)
Question Stimulus :-

Following table shows the Advertising Cost per square cm (in Rupees) and Readership per day for five local
newspapers of Budhunagar. Answer the following questions using the information provided. / ﬁ'{!’ aTrerpT & TR
F U R TUTER =, ufd o f S g ana () ®) iR iy fom urew! @t fezardt 31 Suasy
PRI T3 TAFTHRY BT TN R - arel & warg 3

Advertising

Cost (per 5q

cm) / Taama=
Newspaper/ CICENCIGECE] Readership/
AR 93 ES e IET
Runiva ki
Khabar / gf=
Tl Tax 110 1500
Wake Up / T
49 85 1250
Evening News /
IS 105 1800
The Gossip/ §
A 130 1650
Paparazzi /
RIS 125 1250

“Duniya ki Khabar” is offering a discount of Rs. 5 per sq cm if the space booked exceeds 50 sq cm. What would be the
total advertising cost in this newspaper for an advertisement covering a space of 80 sq cm? / 'qﬁ{ ure® 50 T I

q 3rfie W1 ot Heardl @ dl "gian 3 @ER" 5 IuA ufa ot At It Fe T 6T 81 39 JWIR & 80
Tt QY F o F o fagua Ft ara w0 gl

® Rs.8800
® Rs.8600
® Rs.8400

® Rs.8000
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Correct Answer :-Rs.8400

16)

Question Stimulus :-

The water fit and healthy for drinking is / & Pc'fl'{ Y Td W o[d %
® Marine water / Tq%! o
® Fresh water / Sl ST¢1
® Distilled water / 3IRJd STl

® Saline water / WIRT ST

Correct Answer :-Fresh water / dToll STd

17)
Question Stimulus :-

Following table shows the Advertising Cost per square cm (in Rupees) and Readership per day for five local
newspapers of Budhunagar. Answer the following questions using the information provided. / g arferer & IR

F Ui WY JHER U3, Ufd ot I fagmo= «mme (3w #7) iR ufa oo ures! of feard! 81 Suasy
RS TS STFPRI BT STINT HX Y Jaral & siarg S|
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Advertising

Cost (per 5q

cm) / Taama=
Newspaper/ e (@ EE] Readership/
AT 97 D et
Runiva ki
Khabar / Zf
EORCEES 110 1500
Wake Up / &
T 85 1250
Evening News f
TIECERS 105 1800
The Gossip/ g
M 130 1650
Paparazzi /
RINE] 125 1250

Which newspaper is most expensive for advertising in terms of advertising cost per reader? / DI T GIR

foTo= @mTa wfa ure® & A | fORTe ¢ & foe 9aw 7w 52
® Wake Up /9% 30
® Evening News / Sa=I71 <o
® The Gossip / G TITTYY
* Paparazzi / GUIRTSI!
Correct Answer :-Paparazzi / TUIRTSI
18)

Question Stimulus :-

The consequences of deforestation which is a major threat to survival of organisms are / HT-ﬁ*H\?F[a?

RO St Siidl & SaRSiaar & o I8 Gavl g
e Global warming/T?ﬁ_Glﬁ qrfif

® Soil erosion / Hal UG
(40)



® Droughts / Gl:l'lqﬁ'

e All of these / T gt
Correct Answer :-All of these / & TUt
19)

Question Stimulus :-

When we speak we produce sound. This is because our vocal cords / Sd gH diad '% BH IE]
I BId &1 QT i € i gAR Hiadt

e Get stretched / I SITd %

® Become tight / Tllg E3f ST %

* Getdry/R[t&h STd €

e Vibrate / HFI HId &
Correct Answer :-Get stretched / @ SITd %
20)

Question Stimulus :-

Which of the following animals does not give wool ? / ?ﬁﬁ I B9 HT SR S a8l aTﬂ' %’?
® Sheep / 'i-k."»'
® Camel / &C
® Yak /Yl
® Chimpanzee / IELIG
Correct Answer :-Chimpanzee / IERIE]
21)

Question Stimulus :-

A plane mirror always produces a / T JHdd duT SRR ST %
e Virtual, erect image / 3THRH, WST Ufafdg
® Virtual inverted image / 3THRIT, JeeT Ufdfda

® Real, inverted image / ARSIfA®, ST Uldfad
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* Real, erect image. / AP, WST Ufdfag
Correct Answer :-Virtual, erect image / 3THRIl, eI Ufdfda
22)

Question Stimulus :-

The amount of heat produced in a wire depends upon its / b dR A Iafed AT F1 AET AR Bt
TR :

® Length/ FWI?:

e Material / tlﬂT'\‘-f

¢ Thickness / 'FhETs:

e All of the above / SURIE Tt
Correct Answer :-All of the above / SURTad T+
23)
Question Stimulus :-

(52)° * (26%) * 210 * 13 js

Correct Answer :-1

24)
Question Stimulus :-

An example where both conductors and insulators are useful is / T 3qIgRUl \'rl'ﬁ EIGED QH S-S Eﬁ:ﬁ IUaRh

AT
® Electric wires enclosed in plastic material / @TRe® Terd ¥ dg faerell & ar”

* Nonstick pans with Bakelite handles / SHTISC 88 ardl AFRE®

® Both A & B/A T4 B3l

(42)



® Neither A, norB/AQ'a"B?ﬁ'-'-ﬁ:[é)f
Correct Answer :-Both A & B/ AT Bl
25)

Question Stimulus :-

Plants unable to prepare their own food derives its nutrition from other living organisms. These are called /Tﬁ'ﬁ il

3T Mo ¥ Fiffe oA F errwd § o Sfifa Sftal & diowr ure v 1 Y Feard §
e Heterotrophs /Wﬁﬁ
 Parasites /tl??ﬂ'Cﬂ
® Saprophyte / JdGitdl
® Insectivore / BIEGRI

Correct Answer :-Parasites / USitdl

26)
Question Stimulus :-
An article when sold for Rs. 840 earns a profit which is double the amount of loss whe_n .the
same article is sold for Rs. 600. What is the C.P of the article? / T® a3¥d &I o1d 840 JUdl H
AT 1T 8 A ITDT ATH I 9¥g B 600 FUAL H a9+ T 1 A1 §1 BT GIAT Tl 31 I BT HI-ToT
(C.P.) fraar 82

® Rs.720

® Rs. 820

® Rs.920

® Rs. 680

Correct Answer :-Rs. 680

27)

Question Stimulus :-

Lh | —
Lin | —
by
=
—
[ S
Ly

x x 125
if - F , the value of x is: / fe,
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® 35

® 25

® 15
Correct Answer :-2.5
28)

Question Stimulus :-

In the given figure the portion of the circle AEB is called / & T} e fd &, 9d &T AEB URT
Feard gl

e Arc/ dU

® Segment / EWUS

* Chord / SidT

®* Tangent / el ¥Er
Correct Answer :-Arc / 90
29)

Question Stimulus :-

Pick out the metal which does not show malleability ? / 3 YT BT I Hﬂﬁm S smaTaad=iaar 'EI—Q'th
gl Bt 82

e Lead /T

e Zinc / STl
* Iron/TNET

e Mercury / URT

Correct Answer :-Mercury / URT

30)
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Question Stimulus :-

Following table shows the Advertising Cost per square cm (in Rupees) and Readership per day for five local
newspapers of Budhunagar. Answer the following questions using the information provided. / ﬁ'ﬂ GIED & IR
F U I TUTER 9, ufa ot St g ane (3w F) ok ufd fom urewt @t feardt 31 Suasy
BRTS TTS ATHIRL BT STFNT FR Y Jarel & are &1

Advertising

Cost (per 5q

cm) { TaaATT=
Newspaper/ SIC NI CE] Readership/
STHTER 9 T To®
Duniva ki
Khabar / g
H TN 110 1500
Wake Up / d&
I 85 1250
Evening News /
P T 105 1800
The Gossip/ g
ST 130 1650
Paparazzi /
T 125 1250

If an advertiser books 10 sq am space for advertising in each of the five newspapers, what will be the total advertising
cost? / Ufe TP fIFTUAIGIAT U<l THER U= § 10 qHIex SRTg fagmuq & fore osf ®warar g, af fagmu=
P Hd aNTd T SHEIT?

® Rs.55500

® Rs.37000

® Rs.27750

® Rs.22550

Correct Answer :-Rs.27750
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